Subject: Re: Readf
Posted by Maarten[1] on Fri, 19 Mar 2010 12:54:20 GMT

View Forum Message <> Reply to Message

On Mar 19, 12:51 pm, bing999 <thibaultga...@gmail.com> wrote:

> However, it is the same format | don't understand why it prints Inf
> for A (even ifiinitialize A = 0.d0)

Sorry, missed that. | don't understand that. Having a d in the format
code doesn't help either. Are you sure that A is double presision when
the read statement is executed? It certainly worked for me.

Maarten

Page 1 of 1 ---- Generated from conp. |l ang. i dl - pvwave archive


http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=usrinfo&id=5593
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=rview&th=25878&goto=70207#msg_70207
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=post&reply_to=70207
http://idlcoyote.com/comp.lang.idl-pvwave/index.php

